J2EGFHMER

+ o A

102. 308
BIERH=101.89m

BM. 3=102. 247m i
($8)

5. 40m

! ,.lli‘ﬁiﬂﬁ'ﬂﬂ 80m
|
|

102. 607

o 751 A— W=1000

! @F$#FH=102. 80m
44

@

13?1?)7”7h (73. 498%) pEayy )= kH
B =100 70m ©) (71. 504F) 14.0ni T B X B D&
236.81m LAY y FiigERE  He =
71, 6348) - § @ I BiERE  H= 500 (ZRIH4T)
.60 || ff pascionm § ®@ I BERE H= 600 (FRIZ1T)
LAY =
102. 70 ggﬁFH:G\Eoz.'ﬂ)‘“ . ©) L #YBERE  H= 500 (IRIHHT)
10267 é E @ L B4R H= 600 GRIZT)
@ .z N SM2-280S 8 ® | LEEE H=1100 GRIHIT)
213.91m % AEAE BIE BISHB
1@:};;;&- 2" 2 05 rﬁ (64 70ﬂ1) ©® ]{ﬁ:m 56m @ L ﬂ*ﬁ@ H=1200 (Iﬁi%*]-)
212. 05 (64. 145%) - . = 800 (= BLE
(64 ]4ﬂp) 10&%’%&0%):73 ) . Bﬁﬂ] ('J _&B E$*‘E @ I_ E:J#EE':IE H— 800 (—’kiﬁjﬂﬂ)
(85. 461F) oo i 00 L EEEE  H=1000 (Z R ELE)
wigg-l00 oy |3 T LAY &I S W
% 54=99. 67m||___t ﬁ)ﬁ&ibw 101.20 WY R E A 6L=101.02 @ L gggﬁﬁ;'% H=1100 (::ﬂ@ﬁ:ﬁ)
i 1.30 BIEIEFH=100. 850 [
Lo s ) e L ZBEEE  H=1200 (ZREE)
o079 @ L BEEE  H=1400 (ZRE &)
L @ LEgERE H=1500 (= R&45H)
\ se ® | LEEEE H=1600 (= REE)
1§:J;%§iz ‘ﬂ\ sooxszﬁ)gﬁl)%o =
. RsgFH=101.40m A0 E.«n""ﬁ‘ﬂ*‘°° o L BB H=1800 (ZR&&)
- 2270mz a7 [-L ® | LEEEE H=1900(ZRHE)
4 ~ ; T > I L Bis=00. 93 FifERE He — o O
T 226.03m oz @R | HERE 00 RAR
2 (68 37ﬂ|1) : ty b -00. 89
226. 85m e ity o e
(68. 621%) ///I« I —
T s

& Tt FAEE X

731) 71— W=1000
5.60m,

EREENY

{817 RFH=99. 915m

VU100 ¢ _—
gk —O BER
> @ 20mm
K& —X {15898, 55m

BESR/N ) h—

ﬁJii%&FH:QQ.EIEW 99,916
/7
Y, o)

B 1599, 920m %

100. 072

X o2 | 5 & # R 1/300

il
/Ill!!!,, -
240 GP\JG—SOOXGOO %

BEEFE ———— mEERE 'l @ BS99 220m y &
y 5 g0 -2115 0 =ik P
BBEFH=100.400m /100 42 =118 BVEE & -
B o sEnk FR L . 354= 4 7E 1A 248
(BEEER 3i) B F =09, 300m . 800x800x700
i BIER =99.000m

%X 3%=100. 335m

2] 100. 335 / 5
> " — Ff & | EMBETERFHHE33T - 1

. _— |

X ABEI-RUKEVHES., HHEREITHH IV V- I ET S,

HBERSHBHI LI V- FTETH5E. HYDRMNTEHZDcmllEET B,

ERE (#%) BT A R ERTH B ¢




